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= Al 13,388,000 | 100.00% 13,300,000 | 100.00% 88,000 0.66%
SE3 A 13,388,000 | 100.00% 13,300,000 | 100.00% 88,000 0.66%
JIEtSE 3 A 13,388,000 | 100.00% 13,300,000 | 100.00% 88,000 0.66%
=EHINLSE A 4,027,000 | 30.08% 3,900,000 | 29.32% 127,000 3.26%
2sdII=SEAA 2,061,000 | 15.39% 2,150,000 | 16.17% A89,000| A4.14%
HASFUFNHFIISE 560,000 4.18% 560,000 4.21% 0 0.00%
3l A
FUASTAL HEHH D] 1,250,000 9.34% 1,250,000 9.40% 0 0.00%
=SE3 A
ZII0IEHAIHE AL 300,000 2.24% 300,000 2.26% 0 0.00%
NEAAANEESA
SSNFAZLEALEZ A 2,450,000 | 18.30% 2,400,000 | 18.05% 50,000 2.08%
X=ASSE 3 A 620,000 4.63% 620,000 4.66% 0 0.00%
JIBFAIE SE 3 580,000 4.33% 580,000 4.36% 0 0.00%
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1,540,000 | 11.50% 1,540,000 | 11.58% 0 0.00%




